SO er 7> ONS

Math 71B Summer 2006 ‘ Name:

QUIZ #3 @ 20 points
Sections 7.6 & 7.7

Write neatly. Use a pencil. Show work in order to get credit. No proof, no credit given.

1. Solve each radical equation. 5
2
a)V3x—-2=4 / . b JSx+1=x+1 /
2 2 - 2 2
(BTE—): 4 Q ;xv—/) = (Xt))
3IxX-2 = /6 ’ 5)(A~/: )(17‘2)('/'&
Sx= X p2X
IXz /<? )(2142)(‘ 5x=0
e T _ay=o0 X =0
A== X > / or
x(x-3)=po L
A ? S
—---—-‘"""-_—‘_ —
S I Cledd x=0  cludh X=3
-2 = ‘f > k4
e 37 fow S yEwer iav
o T =1 ee I Ay

, \
=> xX=o sk A +eluti =>><=—3’°AM~

Tl litei @T 50’3}

2. Do the following operations.

a) (10+7i)—(5+4i) = b) (3+5/)(3-5i) = 32—(5?)2
= 1047 -5-%¢ = g_25{?
=~ 5430 - 9. (25)~)/
= 9425
- 37

1+, : . =
" 20() =il
O T (e )(1-¢) )30 *
_ 2l
)= )
20 L p(1)e (ol G0 = %
2

1]
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